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«MOW BEPHbIMW OPYT -
93bIK MOW PYCCKUUI»
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- bPBH

- CTPT

- CTKH

- PCC[I

- MPK

- [1PT

- CXP

- KPHALL

- BAPABAH

- CTAPT

- CTAKAH

- PACCALA

- MAPKA
*[TAPTA

- CAXAP

- KAPAHOALL



HoTa «4o0» + 3apbiTble B 3eM/e
LLEHHOCTU =

[0 + POXKWUN Y YINTKN =

[lo + yyacToK 3eM/1, 3aCa>KeHHbIN
(DpyKTOBbIMK AepeBbAMU+A =

[10 + TepMUH UTrpbl B LWALWLKN =
C + cnpdaTaHHble LEHHOCTU =
Yypeca — a + HbIN =

YacTb - b + YWWKO — 0 + a=

KabaH — aH + nyK =



bupiok — Tynuua —
rosioc 3aTYMJ/IEHHbIV TOMOP

Copora — LLlaHbra —
pblba Mepa, paBHas 1/100 sefpa



